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For all positive values of x, which expression is equivalent to [image: image1.png]


?

1) [image: image2.png]


   2) [image: image3.png]


   3) [image: image4.png]


   4) [image: image5.png]
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The expression [image: image6.png]o3



 is equivalent to

1) [image: image7.png]


   2) [image: image8.png]64



   3) [image: image9.png]


   4) [image: image10.png]64
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Which expression is an equivalent form of [image: image11.png]


?

1) [image: image12.png]


   2) [image: image13.png]


   3) [image: image14.png]


   4) [image: image15.png]
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Which expression is equivalent to [image: image16.png]2y iy



?

1) [image: image17.png]2

y



   2) [image: image18.png]2xy



   3) [image: image19.png]2

y



   4) [image: image20.png]2xy'
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The expression [image: image21.png]a1ty



 is equivalent to

1) [image: image22.png]32l



   2) [image: image23.png]3ty



   3) [image: image24.png]9x3y



   4) [image: image25.png]oxty’
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For all positive values of x, which expression is equivalent to [image: image26.png]


?

1) [image: image27.png])
&



   2) [image: image28.png]


   3) [image: image29.png]


   4) [image: image30.png]




7
Given [image: image31.png]x>0



, the expression [image: image32.png]


 can be rewritten as

1) [image: image33.png]


   2) [image: image34.png]


   3) [image: image35.png]


   4) [image: image36.png]
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If [image: image37.png]


 and [image: image38.png]


, where [image: image39.png]a >0



, an expression for [image: image40.png]EAE



 could be

1) [image: image41.png]


   2) [image: image42.png]


   3) [image: image43.png]


   4) [image: image44.png]
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Given [image: image45.png]x>0



, the expression [image: image46.png]


 is equivalent to

1) [image: image47.png]


   2) [image: image48.png]


   3) [image: image49.png]


   4) [image: image50.png]
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The expression [image: image51.png]


 is equivalent to

1) [image: image52.png]


   2) [image: image53.png]


   3) [image: image54.png]


   4) [image: image55.png]
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When [image: image56.png]b0



 and d is a positive integer, the expression [image: image57.png]2
(38)¢



 is equivalent to

1) [image: image58.png]


   2) [image: image59.png]


   3) [image: image60.png]


   4) [image: image61.png]
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Which equation is equivalent to [image: image62.png]P=210x"y




1) [image: image63.png]p=3/2105%"



   2) [image: image64.png]T3 fxy



   3) [image: image65.png]


   4) [image: image66.png]P = 21003/ 5%’
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What does [image: image67.png]


 equal?

1) [image: image68.png]2ix3f4
il




   2) [image: image69.png]x4/
e




   3) [image: image70.png]ox4f4
yily




   4) [image: image71.png]x4
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For [image: image72.png]x>0



, which expression is equivalent to [image: image73.png]


?

1) [image: image74.png]


   2) [image: image75.png]


   3) [image: image76.png]


   4) [image: image77.png]10
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For [image: image78.png]x#0



, which expressions are equivalent to one divided by the sixth root of x?

I.  [image: image79.png]EYs



  II.  [image: image80.png]


  III.  [image: image81.png]


 

1) I and II, only   2) I and III, only   3) II and III, only   4) I, II, and III
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Given x and y are positive, which expressions are equivalent to [image: image82.png]<M



?

I.   [image: image83.png]


   II.  [image: image84.png]22 o™



   III. [image: image85.png]



1) I and II, only   2) I and III, only   3) II and III, only   4) I, II, and III
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For [image: image86.png]


, which equation is false? 

1) [image: image87.png]kH
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v




   2) [image: image88.png]


   3) [image: image89.png]


   4) [image: image90.png]ki
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The expression [image: image91.png](o3 |(3faa's



 is equivalent to

1) [image: image92.png]2abifa?



   2) [image: image93.png]2ab



   3) [image: image94.png]2ab’
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   4) [image: image95.png]20 b3 2k
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Given [image: image96.png]y =0



, the expression [image: image97.png]Sty e 3fmiy?



 is equivalent to

1) [image: image98.png]21x°;
1x°y°



   2) [image: image99.png]32y



   3) [image: image100.png]xiy



   4) [image: image101.png]xty
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For positive values of x, which expression is equivalent to [image: image102.png]NIT R






1) [image: image103.png]


   2) [image: image104.png]


   3) [image: image105.png]YL )



   4) [image: image106.png]N )
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